Tube Fitting Series Main Block

unit:mm
Mass | Orifice | Eff. a.
CAD A MOdeI R M A B H (g) (mm) (mmZ)
us MBA 0801 | R1/8 M8 X1 8 20 12 11 6 | 245
H I M MBA 1201 | R1/8 8 20 16 6 | 247
] ’f MBA 1202 | RU4 | Mi12x1 | 11 23 17 20 o | s
o | MBA 1203 R3/8 12 24 28 10 :
<I i L R MBA 1402 | R1/4 11 23 1 24 9 | g
MBA 1403 | R3/8 | M14x1 12 24 30 12 : 1
0\ MBA 1404 | R1/2 13 25 22 a7 13 | 56.1
MBA 1803 | R3/8 i 22 30 i
X
e MBA 1804 | Ri2 | M8 T3 2 24 a7 | 13 | 81
unit:mm
g Mass | Orifice | Eff. a.
O MLB 0801 | R1/8 | M8x1 8 28 16 17 40 6 | 21.4
MLB1201 | RS | . | 8 29 5 10 465 6 | 245
MLB 1202 | R1/4 11 32 485 9 40
MLB 1402 | R1/4 11 37 19 79 9 | 427 g
o MLB 1403 | R3/8 |M14x1| 12 38 19.5 22 81 2 |,
MLB 1404 | R1/2 13 39 19 905 | 13
MLB 1803 | R3/8 12 44 235 142 2
X
MLB 1804 | Riz | W81 3 45 23 21 T | 13 | 2
unit:mm
=M KR Model | ™29% w1 w2| A |8 | gp | C | o | w1 wp NassOriice Efta
Bulkhead Reducer MKR 0804 | 4 L Mi2x1 12 1265 10 | 15 14 | 14 |185] 3 | 56
MKR 0806 6 MUl 13 1285] 12 | 17 | 4 [17 |17 | 36| 5 | 115
MKR 1206 6 | M40 10 (285 12 | 17 | |17 |17 [275] 5 | 132 g
MKR 1208 8 M6x1] 12 | 29 | 14 | 18 19 | 19 (345 7 | 274 1
MKR 1210 | 10 M20x1] 15 325 17 | 20 | 5 | 22 | 24 [ 59 | 9 | 348
MKR 1408 8 M6x1| 10 | 29 | 14 | 18 | 4 | 19 | 19 | 33| 7 | 27.7
MKR 1410 | 10 |Mi4x{M20x1] 15 [325/ 17 | 20 | 5 | |24 |62 | 9 | 417 B
MKR 1412 | 12 M2x1 16 | 35 | 21 |235| 6 27 [ 77 | 11 | 547 15
MKR 1812 | 12 |misxijmzx1| 16 | 35 | 21 |235] 6 | 27 | 27 |815] 11 | 66.7
unit:mm
Mass
Model Rc M A B H
(9)
MBC 08M5| M8x1 M8X1 7 11 10 4
MBC 12M6| M6Xx1 M12x1 75 115 14 9.5 g
MBC 1401 Rcl/8 M14x1 8 12 17 12 1
MBC 1802 Rcl/4 M18x1 8 13 19 16

116



